Lecture 10 - Oct. 8
Math Review, Bridge Controller Intro

Injective vs. Surjective vs. Bijective

Modelling an Array as a Function
?



Announcements/Reminders

e ProgTestl tomorrow Wednesday
e Lab3 released
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‘Alf fis a partial injection, we write: |[fe S>» T \?
° eg., {©{(1,a)},4(2,a),(8,b)} } c {1,2,3}»{a, b
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e.g., {(2,d),(1,a),(3,c)} € {1,2,3} » {a,b,c,d}
e.g., {(2,d),(1,¢)} ¢{1,2,3} » {a,b,c,d}
e.g., {(2,d),(1,0),(8,d)} ¢{1,2,3} » {a,b,c,d} (
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If f is a[total injection] we write:

fe(S) T

o e.g., {152,3} » {4, b}(ﬁ_m"w&% total M7t S
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If fis & partial surjection,|we write:
° eg., {{(1 b), (2 a)},{(1,b),(2,a),(3,b)} } = {1,2,3} &

¢{1,2.3 +»{ab}




Bijective Functions
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(2, b), @aEe @}¢{1 234}>-»{abc}
1ja), (2[eh} ¢ {1,2} » {a,b, ¢}
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